Math Worksheet

Multiple Choice

1. Simplify:12 — [4 — (6 — 9)] + 5
o011 o
oF™ o

2. Simplify: 2 — (5 — ) x 2
00 010
O-1 06

3. Evaluate: 8 — [2 — (g — 5)}
04 O8
O—4 OO0

4. Simplify: 20 + (4 4 1) x (6 — 2)
020 01
016 04

5. Simplify: 7 — (£ 4 29)
010 O—4
O—6 06

2
6. Simplify: 45 — (6 %)
05 0-2
0-23 O-5

7. Evaluate: (% — %) x 20
04 O10
02 06



8. Simplify: 2 + (5 — 3)
3
O3z
06

9.Solve: b — 7=2x+ 8
15
Ox =+

Oxz=1

10. Solve: %‘"C +4=10
Oz =21
Oxr=9

11.Solve: 7T(x — 2) = 3(x +4) + 2
Ox=7
Oz =38

. x—5 __ 2z+1
12. Solve: 2 = 2

Ox =13
Ox =-—17

13.Solve:3z — 5 = £ + T

Oz =2

_ 4
Oz =17

14. Solve: 2(3z —4) =5(2x — 7) + 6
Oz =2

— 33
Oz =

.5 _ 3
15. Solve: <F — 7 = =F 42

- _20

_ 36

~|© \1|§



16. Solve: Z(x;?’) — ‘"cgl =1
Ox = —8

Ox =28

17. What is the solution to the inequality 3z — 7 < 2z 4 5?
Oz <2 Oz <12

Oz >2 Oz > 12

18. What is the solution to the inequality 2’”—3:5 > ";ﬂ ?

11
31

Oz <31 Oz

'V

Ox <11

@)
v

xT

19. What is the solution to the inequality 5 — 2z < 3(x + 1)?
2

Oz< 2 Oz >
Ox <2 Oz > %
20. What is the solution to the inequality ‘”;4 - ‘”52 < b?
Oz <10 Oz >14
Oz >10 Oz < 14

21. What is the solution to the inequality 2(x — 3) +5 > = + 12?

Ox > 17
Ox >13
22. What is the solution to the inequality %
11
Ox < 1
3
Oz < 7

1,2\ 4

23. Simplify: (Zg—yyg)
124
O 8:cyl22
81y1[)
16212

Ox <17
Ox <13

X
>5—1?

Ox
Oz
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>
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24. Simplify:

01/16
02

25. Simplify:

Y
0%
7
Y
0%

26. Simplify:

4,,,6
O 'qu

2 4
paq
O£

27. Simplify:

b5
of

bll
O=

a

28. Simplify:

Ox32°
135

€Tz
ok

29. Simplify:

agc5
0 <

bec

O

30. Simplify:

11
P
O Fom

5
p
O qr2

(a2b—3)—2(a—1b)3

a-4b-2

(x—2y3z—1)2_ (wSy—lz)4

$75y2z73

(a—3b20)3‘(a2b—1)—2

a 3¢ 2

(p*q °r)*

(p—qu,,,—Z) -3

01/4
016
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(x71y2z73) 72'(£4y271)3

31. Simplify: @)

32. Simplify: v/50
025 0O5v2
025 05v10

33. Simplify: +/72 — /32

04V2 022
O+V/40 010v2
34. Simplify: v/18 - v/12
062 OV/216
05v6 066
35. Simplify: %
0+V9 03
0O+/50 05
36. Rationalise: %
O 0%
05v3 08B
37. Rationalise: 2_7\/3
014 —7V/3 02++3
014+ 173 07(2 — v/3)
38. Simplify: %
742+/10 7-24/10
O +T O —3

O7+2v10 O




39. Simplify: \/741_\@

O VT V3

OIS O7Fvs

40. Solve the quadratic equation 222 — 5z — 12 = 0.

O$:4,$:% Om:3,m:—%
0215:4,23:—% OZL‘_—4,;L’:%
41. Solve the quadratic equation 3z2 + 2z — 8 = 0.
O:c:%,:c:—2 Ow:%,w:—2
O:c:—%,x:2 Qm:—%,$:2
42. Solve the quadratic equation 4z> — 12z + 9 = 0.
Oz = % Oz =—3
3 2
Oz =5 Oz =—3%
43. Solve the equation %azQ — %a: +1=0.
Oz=1z=-2 Oz=-1,z=-2
Ozrz=-1,z=2 Oz=1 =2
44. Solve the equation 5z% — 45 = 0.
Oz =43 Oz =+V3
Oxz =29 Ox =3
45. Solve the quadratic equation 6z + 5z — 6 = 0.
Oz=3,2=—73 Oz=13%,z=—3
Ow:—%,w:% Ow:%,w:—3
46. Solve the equation (z + 5)(z — 2) = —10.
Ox=-2,z=5 Ox=0,xz=3

Ox=2,z=-5 Oz =0,z=-3



47. Solve the equation (3z — 2)* — (z + 1) = 0.

__3 ,.__1 —3 .1
Ox—_zax_ 4 O$—2,$—4
Ox:%,m:—l Oz=0,z=1

48. Classify the roots of 222 — 72 + 3 = 0.
O No real roots (complex conjugates). O Exactly one real root (repeated).
O Two distinct real irrational roots. O Two distinct real rational roots.
49. Classify the roots of %m2 -5 +6=0.
O No real roots (complex conjugates). O Exactly one real root (repeated).
O Two distinct real rational roots. OTwo distinct real irrational roots.
50. Classify the roots of 22 — 4z + 8 = 0.
O Exactly one real root (repeated). ONo real roots (complex conjugates).
O Two distinct real irrational roots. O Two distinct real rational roots.

51. Find all real k for which 22 — (k + 3)z + k = 0 has equal roots.
Ok=-3 Ok=-1

Ok=3 ONo real k satisfies this condition.

52. For which m does 2z% 4 (m — 1)z 4 (m + 4) = 0 have real roots?

Om <5+ 2/14 Om=5—2vV1dorm=5+2v14
Om<5—2vV14orm > 5+ 2V/14. Ob—2V14 <m <5+ 214

53. Find k so that 422 + kz + 9 = 0 has a repeated root.
Ok=12 Ok = +12.
ONo real k Ok=-12

54. For which t does tz? — 6x + 9 = 0 have exactly one solution as a quadratic?
Ot=-1 Ot=20
Ot=1. Oot=14



55.

56.

57.

58.

59.

60.

61.

62.

Determine all p for which (p + 1)2? — 2(p — 2)z + p = 0 has no real roots.

Op <
Op =

o ot

Solve 222 — 3z — 5 = 0.
Ox=05,—1
Oz = %,—1

Solve 522 + 22 + 7 = 0.

Ox — —1?/34
Oz — fl:i:g«/@

Solve 2 — 6x + 7 = 0.
Oz =3++2
Oz =3++8

Solve %xQ —bx+6=0.

Oz =5++/13

_ 5+4y/13
Ox = ==

Solve 422 + z — 3 = 0.
_ 3

Ox = g,—l

Oz = —

ENY

, 1

Solve 7x2 — 2z — 5 = 0.
_ 2

Oz = 1,—7
_ 5

OCC - 17_?

Solve (z +1)(z —3) =T.

Oz =14++10
Oz =—14++/11

4
Op > 5

4
Op< %
Ox = —%,—1
Ox = %,1

1+iy/34
Oz = 143t

_ —144i/34

Oz = =
Oz =6++2
Oz =-3++2

O:c=%,—5
Oz = _17%
Oz =1++11

Ox=2++11



63. Solve %mz — %:c +1=0.

_ 2413
Ox = 3

_ 5+/13
Oz = ==




